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Interdependence is where 2 sectors are reliant on each other for their success. Countdown relies on the 
household sector to buy the products they supply. Therefore Countdown is making a profit and money to 
provide their workers with an income. Without the household sector Countdown would go out of business 
as people wouldn’t be purchasing Countdown’s goods. The household sector rely on Countdown to provide 
them with food and everyday necessities, without Countdown we wouldn’t have a place to purchase food 
and necessities all in one place making it inconvenient when needing to purchase household necessities. 

Elgas relies on the household sector to purchase their gas to power the gas related appliances such as the 
hot water, gas fire and stoves. Therefore Elgas is able to make a profit on the amount of gas bottles a 
household purchases. They also come to your home and take away the empty ones and re-attach the new 
ones for you. Without the household sector and having gas appliances this business would not exist. 
Households rely on Elgas to supply them with gas to power these appliances so this is interdependence 
where two sectors rely on each other for their success. 

Sky TV relies on households to purchase their entertainment channels they provide on your television. 
Therefore they are making a profit on the amount of channels you purchase. Without the household sector 
purchasing the channels they provide they would go out of business as no one would be paying them for 
their channels from movies to documentaries, for learning and for our entertainment. Therefore we can 
watch any of the channels we have purchased at any time. 

 

We rely on the National bank to look after our money. We use the National’s bank online banking services 
to pay our bills so money is debited from our accounts and then credited to the account of the company to 
whom we owe money. They also offer loans that we must pay back with interest. 

Interdependence is where two sectors rely on each other for their success. The government sector relies 
on the household sector to pay their taxes so they can build public goods and services such as healthcare 
and parks. The household sector relies on the government sector to provide them with free public 
healthcare as well as roads and parks.  

 
 

15 

16 

17 

Student 5: Low Achieved 


